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JIE iz B E A ouT IN GROSS | HDCP NET
62| K& =0 38 32 70 4.0 66.0
i iR 28 39 41 80 14.0 66.0
M /A & 39 35 74 7.0 67.0
AGL/NA 2 37 36 13 6.0 67.0
S5hI|%H HBX 40 40 80 13.0 67.0
6 | FH M 39 37 76 8.0 68.0
ML g HRE 38 36 74 6.0 68.0
8L | AT % 37 38 75 7.0 68.0
ofi| e IER 39 43 82 14.0 68.0

10652 | KA1 B 34 41 75 7.0 68.0
114 | Rl PERE 43 38 81 12.0 69.0
12431 | = 155 = 39 44 83 14.0 69.0
13 |5k AKR IEH 44 40 84 14.0 70.0
1467 |4t F1& 42 39 81 11.0 70.0
1547 2R 18X 41 41 82 12.0 70.0
1661 | &H# MRE 37 38 15 5.0 70.0
1761 |3RFT &=E 39 39 18 7.0 71.0
184 | GH HX5 40 44 84 13.0 71.0
196 BER =2 41 39 80 8.0 12.0
206 B HHEE 40 41 81 9.0 12.0
2160 BH IER 40 41 81 9.0 12.0
2241 FEiE ok 40 44 84 12.0 72.0
26 BRI FE 43 37 80 7.0 73.0
2461 |$5H HRZ 43 42 85 12.0 713.0
257 Hep  =HB 40 39 19 6.0 713.0
264 | —#5 AT 43 44 87 14.0 73.0
2741 2AH 1EBA 41 42 83 10.0 713.0
284 BEIR RE— 47 41 88 14.0 74.0
2961 | e 44 42 86/ 12.00 74.0
0G| HEHE #EIh 39 46 85 11.0/ 74.0
L IR == 38 45 83 9.0/ 74.0
320 | £ RX 45 40 85/ 10.0/ 75.0
33GL|FH EEA 47 42 89| 14.0f 75.0
A | EH =F5 M M 82 7.0/  75.0
3541 | & E= 43 46 89| 14.0/ 75.0
364I|1&%F 1E5 39 45 84 9.0/ 75.0
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JIE iz B E A ouT IN GROSS | HDCP NET
3L BRI B 45 43 88 12.0 76.0
B EH £ 42 43 85 9.0 76.0
9L BIRE F= 44 45 89 13.0 76.0
4067 \UAR EZ 42 46 88 12.0 76.0
M EE B 39 44 83 7.0 76.0
4245 | ;R RBAE 42 46 88 11.0 71.0
367 | /D FE fBR 45 46 91 13.0 78.0
A4 ETR EmB 48 43 91 12.0 79.0
454z EZER 44 45 89 10.0 79.0
4641 fRIF = 47 42 89 9.0 80.0
4w R/Z 44 44 88 8.0 80.0
8B em N&E 44 48 92 12.0 80.0
4961 ;EH —=X 49 42 91 10.0 81.0
50z | HLE IEE 50 45 95 14.0 81.0
S |80 == 44 50 94 13.0 81.0
524 | FaIL HFH 42 53 95 14.0 81.0
53 FH AR 45 41 86 4.0 82.0
5441 B = 49 48 97 14.0 83.0
554 BRA SEfE 50 44 94 8.0 86.0
564 JkH EK 49 50 99 13.0 86.0
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